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(1) QA 3X HHHE|X] S5 X|4
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ZX|HE K|tk =1H 400% i<, =10 3Y 300% OHE).
@ EHZIFXME of+=3 = O|E HEE 3 d T ZaXE XS0l O Z(inverse
position)
@ % @2 As2z HHIISXE F7t o
Oi &= (inverse leverage position)

® 9 @ E A HH=E(3X inverse leverage position)
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(LH) CHAF H|-E(LC : Loan Cost)

LC, = MAX{0.35%, YTMyrpsy X 20% }
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(Ch 1A 3X I E|X| =2E(ILR : Inverse Leverage Return)

ILR, = {(1 — k) X YTM w Dut-1 + (k x TR)+(k><LC D“‘l)
t =A@~ 365 t £7 365

ILR: t Al ol 3X #H2|X| £2/8
YTM S EEREO £

Dy—q: ST AT A Y ALO|o] HEHY £
k(k=-3) : QA 2H2[X| A==

TR, t A2 KAP KTB 3Y TR Index2| £+ &
LC: ¢ A XH CHXE HIE

(B A 3X |HE|X| X|a=(ILIDX : Inverse Leverage Index)
ILIDX, = ILIDX,_, x (1 + ILR,)

ILIDX,: t A& QA 3X gH2|X| K==
ILR.: t A QA 3X 22X =&
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(Inverse Leverage Duration), = k X (Duration),
(Inverse Leverage Duration), : /B2 3X 2f|H2|X] X|5= Fef o]
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